
 

 
 

EasyGrinder 
 

 

März 2015 / D  copyright© Heiniger AG, CH-Herzogenbuchsee / Spare parts list 

 
 
Pos Art-No Description Total Pos Art-No Description Total 

1 718-210 Motor for EasyGrinder 230V with switch + flange 1x 29 718-264 Eye bolt M6 x 20 1x 

1 718-211 Motor for EasyGrinder 120V with switch + flange 1x 30 718-265 Pin Ø3 x 30 2x 

2 718-213 Mounting flange 1x 31 718-266 Socket head cap screw M3 x 16 2x 

3 718-214 Support EasyGrinder 1x 32 718-267 Plastic washer Ø6.4/18 x 1.6 4x 

4 718-215 Cross arm 1x 33 718-269 Handle to EasyPendulum 1x 

5 718-216 Cross arm mast 1x 34 719-004 Guard ring 1x 

6 718-217 Mounting bracket 3x 35 720-011 Threaded pin M5 x 8 2x 

7 718-218 Fixing collar Ø 10 2x 36 722-680 Countersunk screw Torx M4 x 12 2x 

8 718-219 Washer Ø 5.3/15/1.5 4x 43 722-765 Screw Torx  M6 x 30 Kaflok 1x 

9 718-220 Wing screw M6 x 8 1x 37 722-782 Counter sunk screw Torx M4 x 20 1x 

10 718-221 Hexagon head screw M6 x 16 6x 38 722-783 Washer for countersunk screw M4 EVO 2x 

11 718-222 Hexagonal nut Verbus M6 6x 39 722-804 Screw Torx M5 x 16 4x 

12 718-223 Rubber foot Ø22/4 x 10 4x 40 722-813 Cable with Schuko plug 1x 

13 718-224 Counter sunk screw M6 x 30  3x 40 722-814 Cable with US-plug 1x 

14 718-225 Cover backside 2x 41 722-824 Hexagonal nut M6 1x 

15 718-226 Protection cover 1x 42 805-043 Wing screw M6 x 25 2x 

16 718-227 PH-Screw M5 X 10 4x 44 719-027 Switch with cover 1x 

17 718-228 Distance bolt M5 x 35 4x 45 722-851 Capacitor 12µF 240V 1x 

18 718-229 Hexagon head screw M8 x 25 4x 45 718-236 Capacitor 40µF 120V 1x 

19 718-230 Hexagonal nut Verbus M8 4x 46 718-238 Fan blade 1x 

20 718-231 Center sleeve EasyGrinder 1x 47 718-239 Fan cover 1x 

21 718-232 Magnet Ø25 1x 48 718-237 Switch housing  1x 

22 718-234 Screw M4 x 8 4x  718-241 Allen key 4 mm 1x 

23 718-235 Center sleeve EasyGrinder complete 1x  722-248 Converter Schuko/GB-Plug 5A 1x 

24 718-240 Grinding disc Ø 370 EasyGrinder 1x  722-848 Converter Schuko/CH Typ 12 1x 

25 718-251 Emery paper Ø370 self-adhesive medium 1x  722-849 Converter Schuko/AUS 1x 

26 718-260 EasyPendulum complete 1x   Accessories  

27 718-261 Rod to EasyPendulum 1x  718-001 Precision ruler  

28 718-262 Body to EasyPendulum incl. magnet 1x  799-054 Acutecc hollow gauge (silicon carbide stone)  

 


